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Ilepswiii 3axon Kupxeogha
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Bmopoti 3axon Kupxeogpgha
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npoepamma pacuema (Paskal)

var

R1,R2,R3,R4,E1,E2,11,12,13,14,15: real;
begin

writeIn("eeeagure sHavenus conporuBieHMiiz");
readln (R1, R2, R3, R4);

writeIn("eeegure sHavenms 5IC:");

readln (E1, E2);

11:=E1/R1;

15:=(E2-E1)/R2;

14:=E2/(R3+R4);

12:=11-15;

13:=15+14;

writeIn(” pemenne Toxll=", 11, roxl2= ",12, "roxl3=" ,13, *©
roxld= ", 14 ,"roxl5=",15);

end.

npumep paciema

BBeOMTE BHAYEHMUS CONPOTHUBIIEHMI

1.2 21.2 1.58 0

BBeguTe 3BHauveHwms SIC:

27.46 28.78

Pemenme Torxl1=22_.8833333333333 roxl2= 22.821069182389970x13=18.2774540243611 roxl4=
18.215189873417770x15=0.0622641509433962



